3.4 Derivatives of Trigonometric Functions

It is important to remember that everything for six trigonometric functions (sin x, cos x, tan x, cot x, csc x, sec

will be done in radians.

EXAMPLE 1. Compute:
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EXAMPLE 3. Find these limits:
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Conclusion: If a,b+# 0 then
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EXAMPLE 4. Find the following derivatives:
d ne = C x+W) — §x) e Sin
(a) S = '(A-V\'\ S“' ={n

(x+h) = 5inX

W=0 W A0 h
- a Sinx cesh + (Sinh MXE- Sinx
= WA
h=o h
s enx ( caph=()
= f,.. Snx Cooh ~Sinx b D I sime b X Mxlu%
koo h h»o — h=0 hdo

= Sinx: O + Capx-1 = CAX
Remark Similarly one can get (cosz) = —sinwz. ( Please +ry hg“ H.)

£\: £'a-1s
o) G)= 2

cl . ' Q.RI . l ‘
tanr = (SIAX ) e (SH\X) Con X~ S-'nx(ccox)
dz Conr i

Cogx- CoA% — SinX Sinx)  cot'x +SMiX
Coglx

t— = 4
o Stz

Corlx

Derivatives of Trig Functions (memorize thesel!)
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EXAMPLE 5. Find the derivative of these functions.
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EXAMPLE 6. Find the equation of the tangent line to the graph of function y = x’sinx at x = T
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